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_Name:
Solve.
Study the example problem showing how to represent and use Holly plays a different game at the arcade. It takes
relationships between quantities. Then solve problems 1-7. 2 tokens to play the game. She starts with 10 tokens.
Example [ B Write an equation that can be used to determine
Holly is playing a crane game at the arcade. With each how many tgkens ?hf’ has left after playing the
quarter, she gets 2 tries to grab a stuffed animal with the game each time. Fill in the blanks.
crane. Holly wants to know how many tries she will get 10 tokens — (__2  tokens X number of games ) = number of tokens left
using different numbers of quarters.
S?ow the relationship between quarters and numbers [BIT» B Use the equation to complete the table.
of tries.
You can use equations.  You can use a table. Number of ] 5 3 4 5
Games Played
1 X 2= 2tries
Number of
2 X 2= 4tries Numberof | 2 3 4 5 Tokens Left 8 6 4 2 0
. Quarters
3 X 2=6tries Number of
4% 2 = 8tries e | 2 4 6 8 | 10
5 X 2 = 10tries [I7® [ Plot the ordered pairs from the table on the
——————e e —— e m—~— coordinate plane. Choose a point on the coordinate 10
plane and tell what it means. & Z
. - . T
D § Usethe tab.le inthe example.above. F|n|s!’1 plotting the Answers will vary. Possible answer: The ordered : 7
ordered pairs from the table in the coordinate plane to g6
the right. m1g 1 pair (3, 4) means that after Holly plays 3 games, % 2
IS
<8 . 3
I B} What is the meaning of the ordered pair (3, 6)? ) she will have 4 tokens left. >
© 6
The ordered pair (3, 6) means that with S5 1
24 012345678910
3 quarters you get 6 tries. 3 3 Games Played
2
1 | @ A Compare the table and coordinate plane from this
0 X problem with the problem on the previous page.
12345678910 How are they different?
Number of Quarters ) . .
@ E) Describe a path from (1, 2) to (2, 4) and from (2, 4) to Answers will vary. Possible answer: In the problem on the previous page, as the
f«;téz:elz you continue from point to point, what do you x-coordinates increase, the y-coordinates increase. In the problem on this page, as the
ice?
Answers will vary. Possible answer: Start at (1, 2). Move 1 unit right and 2 units up to x-coordinates increase, the y-coordinates decrease.
get to (2, 4). Start at (2, 4). Move 1 unit right and 2 units up to get to (3, 6). From point
to point, you move 1 unit right and 2 units up each time.
©Curriculum Associates, LLC ~ Copying is not permitted. Lesson 29 Graph Points in the Coordinate Plane Lesson 29 Graph Points in the Coordinate Plane ©Curriculum Associates, LLC ~ Copying is not permitted.
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Name:

Study the example that shows how to solve a measurement problem with
a shape on a coordinate plane. Then solve problems 1-6.

Example

The owner plans to add a new game room to the arcade. 1
He draws a rectangle on the coordinate plane to represent
the room. What is the area of the rectangle?

From point G to point A, go up 6 units.

From point A to point M, go right 5 units.

Length of GA is 6 units and length of AM is 5 units.
Area of a rectangle = length X width

Multiply the lengths of the sides to find the area of the
rectangle: 6 X 5 = 30.

Area of rectangle GAME = 30 square units

e e e e ——— e T

I [) Write ordered pairs for each point.
G(_2 , 2 ) A2, &8 ) M7 _, &) E_7T_, 2%2)

G £

SNWRUITONN000O

X

o

12345678910

I B Find the lengths of ME and EG. Explain how you can
use the coordinates to find the distance between
points M and E and between points £ and G.

Length of ME is 6 units. Length of EG is 5 units. Possible explanation: Points M and E

are on the same vertical segment. Subtract the y-coordinates to find the distance:

8 — 2 = 6. Points E and G are on the same horizontal segment. Subtract the

x-coordinates to find the distance: 7 — 2 = 5.

I E) What is the perimeter of rectangle GAME? Tell how you found your answer.

Possible answer: You can add the lengths of all 4 sides to find the perimeter:

6 + 6 + 5 + 5 = 22. The perimeter of GAME is 22 units.

Lesson 29 Graph Points in the Coordinate Plane
[\
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Use the coordinate plane to solve problems 4 and 5.

N

SNWRUINN®OVO

A F

X

0 123456780910

|3 @) Write the coordinates of points A, B, C, D, E, and F.

A(_2 2 ) B(_2 7 )
a4 , 7 ) D(_4 , 4 )
E(_7 4 ) F(_7 2 )

I7® B What is the perimeter of shape ABCDEF?

Show your work.
Possible work: Students might subtract
coordinates to find the distance between points,
or they might count the number of units to find
the length of each side. AB is 5 units long, BC is
2 units long, CD is 3 units long, DE is 3 units
long, EF is 2 units long, and AF is 5 units long.

5+2+3+3+2+5=20

Solution: _The perimeter of ABCDEF s 20 units.

[P @» [ Draw a rectangle with an area of 12 square units in the

the length of UV: 6 — 3 = 3. Subtract

x-coordinates to find the length of VW:6 — 2 = 4.

coordinate plane to the right. Tell how you know the 8

area is 12 square units. 7
Answers will vary. Possible answer: The 6 v, W

5

coordinates of my rectangle are U(2, 3), V(2, 6), 4
W(6, 6), and X(6, 3). Subtract y-coordinates to find 3 U X

2

1

Since 3 X 4 = 12, the area is 12 square units.
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